DNZRINO KEH

DNZRINO KEH




About Us
R, B, BIREFERENTE!

HIABRFRHRERAE, B—REWA. fiE. HERST HRNERERRSRE~REEIL,
AT F1996FCITZ, UFEKZSWENXT, BEF0RERSE, EF-EMMIRIFARMRAIRYET .
N IEHAITIRRY g =t t, BB, Tl N, IBERIE/ A,
AEWERTI60RA, RASERIHE20FEL ERBERFIHAIRIT. SIETZHEFSEEE,

FEFERPR: REHKESRSE. MESRESR. SAERESMEEE (FHE) | ERERBRAIMERE (FUEE) |

BRSOERERR. EnRERS. ZInEEERS. EHRE. BHss. BRENIRIKRES, FIETRERSRIIHI00S N mitHE.
RESEERANIAS000A THERREBRERMEEHRS, SIHERINENEAEROIRE . SREE5RE,
BECFNEEESHARS, LUREDBESMHEGUN. BORSHMAMRES . BAREULNE . ROHSHKE TR ITNERENRE 4.
REFEFRENTBE0EE, AEREERSRTIHERTKE.

REERIIFmETENREARMAMSHALE, SENESHIERREE;

B, £FFF=REPEECQC. CCC. VDE. CE. CB. ULQKIAIE, RERMESHERRERITIIETE

BT ER

g =1=]

“aEn

=30 &

B=R
CONTENTS

| KEAIRE

A ME Company Profiledeve
%% T2 Equipment Technology

1l ZE£ Enterprise Honor

Il KA m
EOREF R AE

EE RS 28

LEEHEBMERS

RS SIMEEE

EREXFEHRE

BREFTAM= b8
RETIhHME R HIZS

RIEEFX

SEFX

APFEIRIBINES

SVGCIRNSAMEIE
SPCHEEREFIEES

i ENHLEEZS 28 CBB60-7K3RFEAL
iR ENLEEZS 2§ CBB60-TURHEARA
iR ENLEEZS 2§ CBB60-2 B EFNERIRIERAL

MBS Z s CBB65




DAZRINO KER

Strength

53 l]: S AR

PNELERTLEEE

2000757t
BERR EREDSURS
RIEBSRES FDUEXRE B RS ER

ikt 57 LEFRAIBYSE A !

Bl TSRS LR IR, ASRBTFAEK,
BETLREREIIA.
ARG, TR ABETEALNOEENE
EORTEAWES, TSI T LR

HEUNE~Z

SERBITSE, WAERINSTHRES;
s|HEREBEr~RE,
HERERENTZHE,

Adhering to the open attitude of science and technology,

absorbing advanced scientific research concepts at home and abroad;
introducing high—end automatic production equipment,

and developing high—standard technological processes.

RN &

fEmAs, Bl
B—Eanmu iR ELaT
LinsFERINENB MRS HERIT

Keep improving, develop business with great virtue
Every finished product must be tested online
Executed with electrical performance parameters
far higher than national standards

Producing capacitors The artisan
HINREFBEBNIE

01/02



DAZRINO KER

Honour
BINRE

B0SFEEFRIREZR, IREN—RIE-mEeEREl;
ERE “BHESHWAHER” REE
EESSERENEERTToZ—

FHFRENBIEE0R &
MATFER . A, X . EKE. FHEPO
FT. TIEhE, BM. BEEF. REESEESME

CBBEEZERLARJICQCIEH

ERE# “BhEFRMAIMNEBER RISE

Producing capacitors The artisan
HINREFBEBNIE

03/04




PRODUCT
INTRODUCTION

PR E-BNRERS




DNZ ’ 1/\ O X EH - Producing capacitors The artisan O 5 / O 6

HNREFBARNIE

\

L F‘ﬁ'ﬂﬂii& Product Description o ﬂ%@x Model Meaning

PRODUCT
I N T RO D U CT | 0 N DZ-BKMJ &7 B Azl EFF BB A 881E A FHM=50/60Hz (K &

BHERS, RALHNDSNERFSESALBNERESE, bZ -BO-my O-0-0
EESERRETEERE; BENEMENEN, FE s 1-si8 3-8
RETEANBHEESHTNERE, RETESTHREN HES e
TEMAEM . S
FEMATMEENESHRELR, BNCRE, SEEmER., S pm

C: i
K: F=

HRENREHIXBS R o
(DZ-BKMJZFI)

Self-Healing Type
Low Voltage Power Capactior (DZ-BKMJ Series )

* FARFFE Technical Features

o FHUN, BEER o SURRYEERIA
FHNEUL, LRT5(E, ESMNERRNAETRII1/4; BattENREEEERA, FANENMBHESNERF;

o B, HFHiK o MFpEEDIRIT
TUHREREIRIR, BN, TIEEwiK, ERTRES; RIREREREEME EDRRERE, R HIRIRIRRISR;

o fldEIERERE o FRAIMFEAFEM
NEEPEFELMEERAS, PREEKE, REEXNES; RAEER/FRRSER, ERTRERNRER, BRTESHR.

o EAFM Use Environment

AT GB/T12747-2017 IEC60831-1996 HERE: 230VAC ~ 1000VAC

WESRE: 50Hz / 60Hz . —5~+10%

RIERAEDE: <0.10% (Un50Hz 20°C) tRIET R E: T-T: =2.15Un/10s

TRSRIEERE: T-C: Un<660V 3000VAC/10s; Un>660V 6000VAC/10s

ol T-C: =MQ/500V.DC R fVFERR: 1.3In (KHE1T) 5 1.8In (45EkEH )
BEAIFEE: 1.1Un (8h/24h) ; 1.15Un (30min/24h) ; 1.3Un (1min/24h)

WERE: —25°C~+55C 1EAREE: <95%

BIRSE: <2000m iR FAE Ip20, [EfE=25mm

BngEsE: WTIFFFRIR3MIn/E, RIREEREZ75VRLLT




DAZRINO KER

F‘ |:'|=|':| %%& Product Parameters

epme | WESE  OESE SRR {mm) RERY | g
o) (WF) P ‘ - ‘ 5 (mm)
‘ 0.25-05-3YN ‘ 6.7 ‘ 254.8 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ BE— ‘
‘ 0.25-06-3YN ‘ 8.0 ‘ 305.7 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘
‘ 0.25-08-3YN ‘ 10.7 ‘ 407.6 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
‘ 0.25-10-3YN ‘ 133 ‘ 509.6 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
‘ 0.25-15-3YN ‘ 20.0 ‘ 7643 ‘ 180 ‘ 62 ‘ 200 ‘ 200%42 ‘ BE— ‘
‘ 0.25-20-3YN ‘ 26.7 ‘ 1019.1 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ B— ‘
‘ 0.25-25-3YN ‘ 8383} ‘ 12739 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ B= ‘
‘ 0.25-30-3YN ‘ 40.0 ‘ 1528.7 ‘ 180 ‘ 70 ‘ 320 ‘ 208*50 ‘ BE= ‘
mpme | WEEE | WEAR 2T () TERY |
o) (WF) K ‘ = ‘ = (mm)
‘ 0.28-05-3YN ‘ 6.0 ‘ 203.1 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘
‘ 0.28-10-3YN ‘ 11.9 ‘ 406.2 ‘ 180 ‘ 62 ‘ 130 ‘ 200%42 ‘ E— ‘
‘ 0.28-15-3YN ‘ 17.9 ‘ 609.3 ‘ 180 ‘ 62 ‘ 200 ‘ 200%42 ‘ E— ‘
‘ 0.28-20-3YN ‘ 23.8 ‘ 8124 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E— ‘
‘ 0.28-25-3YN ‘ 298 ‘ 1015.5 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ E— ‘
‘ 0.28-30-3YN ‘ 357 ‘ 1218.6 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ E= ‘
‘ 0.28-40-3YN ‘ 476 ‘ 1624.9 ‘ 180 ‘ 95 ‘ 280 ‘ 200%70.5 ‘ B= ‘
epme | BESE  OESE SHZRAT {mm) ZERY | g
o) (WF) P ‘ = ‘ = (mm)
‘ 0.30-05-3YN ‘ 56 ‘ 176.9 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘
‘ 0.30-10-3YN ‘ fIAIAT ‘ 3539 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
‘ 0.30-15-3YN ‘ 16.7 ‘ 530.8 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E— ‘
‘ 0.30-20-3YN ‘ 222 ‘ 707.7 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E— ‘
‘ 0.30-25-3YN ‘ 278 ‘ 884.6 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E= ‘
‘ 0.30-30-3YN ‘ B8543 ‘ 1061.6 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ B= ‘

FERATIENER, FEORHBFHEAS,

L oy 24

)

(o3
.

-

i

BN

A iy

Azt

F
= “
L)
= e
y :
o
i
i g
o @ jJor—
i i
\ \
otz

Producing capacitors The artisan

07/08

RIREFBEENTE
Flﬁ:%g& Product Parameters
=ome T | SEAR IMERY (mm) LR s 3‘ | {
(A) (WF) K ‘ = ‘ 5 (mm) plelell
‘ 0.40-05-3 ‘ 72 ‘ 995 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ B— ‘
I
‘ 0.40-08-3 ‘ 115 ‘ 159.2 ‘ 180 ‘ 62 ‘ 115 ‘ 20042 ‘ E— ‘ y E
‘ 040-10-3 ‘ 144 ‘ 1989 ‘ 180 ‘ 62 ‘ 130 ‘ 200%42 ‘ E— ‘
‘ 0.40-15-3 ‘ 217 ‘ 2984 ‘ 180 ‘ 62 ‘ 180 ‘ 20042 ‘ E— ‘ = =
‘ 040-16-3 ‘ 231 ‘ 3183 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
‘ 040-20-3 ‘ 289 ‘ 397.9 ‘ 180 ‘ 62 ‘ 250 ‘ 200%42 ‘ B— ‘
‘ 040-25-3 ‘ 36.1 ‘ 497.4 ‘ 180 ‘ 70 ‘ 220 ‘ 208+50 ‘ E= ‘
‘ 040-30-3 ‘ 433 ‘ 596.8 ‘ 180 ‘ 70 ‘ 320 ‘ 208*50 ‘ E= ‘ E—
‘ 0.40-40-3 ‘ 577 ‘ 795.8 ‘ 180 ‘ 95 ‘ 330 ‘ 200%70.5 ‘ = ‘
‘ 045-05-3 ‘ 6.4 ‘ 786 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘ : ] —
] A
‘ 045-08-3 ‘ 103 ‘ 125.8 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘
‘ 045-10-3 ‘ 12.8 ‘ 1573 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘ 8.
‘ 045-15-3 ‘ 192 ‘ 2359 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ B— ‘ o | Y
‘ 045-16-3 ‘ 205 ‘ 2516 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
== =
‘ 045-20-3 ‘ 257 ‘ 3145 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘
‘ 045-25-3 ‘ 321 ‘ 3932 ‘ 180 ‘ 62 ‘ 250 ‘ 200%42 ‘ B ‘
‘ 045-30-3 ‘ 385 ‘ 4718 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E= ‘
‘ 045-40-3 ‘ 513 ‘ 629.1 ‘ 180 ‘ 70 ‘ 320 ‘ 208+50 ‘ E= ‘
‘ 045-45-3 ‘ 577 ‘ 707.7 ‘ 180 ‘ 95 ‘ 280 ‘ 2007705 ‘ E= ‘
‘ 045-50-3 ‘ 64.2 ‘ 7863 ‘ 180 ‘ 95 ‘ 330 ‘ 200%70.5 ‘ ‘
‘ 0.48-05-3 ‘ 6.0 ‘ 69.1 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ B— ‘
‘ 048-10-3 ‘ 120 ‘ 1382 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘
‘ 048-15-3 ‘ 18.0 ‘ 2073 ‘ 180 ‘ 62 ‘ 180 ‘ 200%42 ‘ E— ‘ o y
‘ 048-20-3 ‘ 24.1 ‘ 2765 ‘ 180 ‘ 62 ‘ 220 ‘ 200%42 ‘ E= ‘ = g
Ll
‘ 048-25-3 ‘ 301 ‘ 3456 ‘ 180 ‘ 70 ‘ 220 ‘ 208+50 ‘ E= ‘
‘ 048-30-3 ‘ 36.1 ‘ 4147 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ E= ‘ A= =
‘ 0.48-40-3 ‘ 481 ‘ 5529 ‘ 180 ‘ 70 ‘ 320 ‘ 208+50 ‘ E= ‘ o
‘ 048-50-3 ‘ 60.1 ‘ 691.1 ‘ 180 ‘ 95 ‘ 330 ‘ 200%70.5 ‘ = ‘ s
ST
‘ 0.525-05-3 ‘ 55 ‘ 5738 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘ -~
‘ 0525-10-3 ‘ 11.0 ‘ 1155 ‘ 180 ‘ 62 ‘ 115 ‘ 200%42 ‘ E— ‘ =
‘ 0.525-15-3 ‘ 165 ‘ 1733 ‘ 180 ‘ 62 ‘ 130 ‘ 200%42 ‘ E— ‘
‘ 0.525-20-3 ‘ 220 ‘ 2311 ‘ 180 ‘ 70 ‘ 220 ‘ 208*50 ‘ E= ‘
‘ 0.525-25-3 ‘ 275 ‘ 2889 ‘ 180 ‘ 70 ‘ 220 ‘ 208+50 ‘ B ‘
‘ 0.525-30-3 ‘ 330 ‘ 3466 ‘ 180 ‘ 70 ‘ 270 ‘ 208*50 ‘ B ‘
‘ 0.525-40-3 ‘ 440 ‘ 4622 ‘ 180 ‘ 70 ‘ 320 ‘ 208*50 ‘ E= ‘
‘ 0.525-50-3 ‘ 55.0 ‘ 577.7 ‘ 180 ‘ 95 ‘ 330 ‘ 200%705 ‘ B= ‘

EIEmATIKNER, FEOKBBFHEAR,




Produci i Th i
e aersesme 09/10

O FI:IEIIJ*EESZE Product Description C ﬂ%’a‘)‘( Model Meaning

PRODUCT DZIC-BRMIESIE R SRR T EHHEAR, BRTHE neft me o Dm0
| NTRO D U CTI O N 50/60Hz{EERR RS, RALHIGAENBEFESEEREN

RAGEEE, EERERRETEERE; EEN R i

FE, FESKRETENBHESETNESRP, RET SRR

AT MR RIS ALE L S
TERTEEREENRES, WERE, KEENESR. P

FFEK
Al EFR

u N O
!*Ii %ﬁﬁ * FARYFER Technical Features
(DZ/C-BKMJZE%)
Self-Healina T o (T, BERE o IRFE(E. Haik
e ealing YD_e : _ FNEUY, EEMZRERES, SAZEN, TI360E THESREERE, &R, BN, TESHK, &5
Low—-Voltage Cylindrical Power Capacitor R, TS,

(DZ/C-BKMJ Series) o MASHOEEIHLL o —{THELES

IR SRR, MUESRMED, MEbELE TRPERER=EEHENTE, TRNEK, FEEHRY
EFRIEAN30%LAE; REEF;

o flERIBERERE o SUFTREERIAR

NEEPEFERLEERDE, PREEKE, REN BEsENANEREERA, FANEMBEEESNERF;
KIES;

o MFpEEDIFIT o FRAIMRRREH

RIREMEBEEMSEDNRGES, Bie HIMRIRA SRAEE R/ TERIZER, EREERRH, BRlEEE.
IRZUINER

o fERSEM use Environment

iR GB/T12747-2017 |EC60831-1996 FERE: 230VAC ~ 1000VAC
50Hz / 60Hz BERE: -5~+10%
IRFEMIEL(E: <0.10% (Un50Hz 20°C) RIEER E: T-T: =2.15Un/10s
RSEBE: T-C: Un<660V 3000VAC/10s; Un>660V 6000VAC/10s
Pt T-C: =MQ/500V.DC RS eI 1.3In (KHAIE1T) ; 1.8In (5kEH)
BEAYFEE: 1.1Un (8h/24h) ; 1.15Un (30min/24h) ; 1.3Un (1min/24h)
KiEEE: -25°C~50C TESEE: <95%
BiERE: <2000m BAHRELR: FRE P20, [EiE=25mm

WTIFFRRIR3mIn/E, RIREEREZ75VRILT




DAZRINO KER

(=]
an%?ﬁ Product Parameters
FrRRe S EsR SHERT (mm) SR
(WF) (A) (WF) ® ‘ H (mm)
‘ 0.25-05-3YN ‘ 6.7 ‘ 254.8 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.25-10-3YN ‘ 133 ‘ 509.6 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.25-15-3YN ‘ 20 ‘ 764.3 ‘ 96 ‘ 245 ‘ M16*25 ‘
‘ 0.25-20-3YN ‘ 26.7 ‘ 1019.1 ‘ 106 ‘ 245 ‘ M16*25 ‘
‘ 0.25-25-3YN ‘ 333 ‘ 12739 ‘ 116 ‘ 290 ‘ M16*25 ‘
‘ 0.25-30-3YN ‘ 40 ‘ 1528.7 ‘ 126 ‘ 290 ‘ M16*25 ‘
"/,
FRRS T HEnE SHERT (mm) TERY
(HF) (A) (WF) ® ‘ H (mm)
‘ 0.28-05-3YN ‘ 6.0 ‘ 203.1 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.28-10-3YN ‘ 11.9 ‘ 406.2 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.28-15-3YN ‘ 179 ‘ 609.3 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.28-20-3YN ‘ 238 ‘ 8124 ‘ %6 ‘ 245 ‘ M16*25 ‘
‘ 0.28-25-3YN ‘ 29.8 ‘ 1015.5 ‘ 106 ‘ 290 ‘ M16*25 ‘
‘ 0.28-30-3YN ‘ 35.7 ‘ 1218.6 ‘ 116 ‘ 290 ‘ M16*25 ‘
FrRAE ezzh i SHERY (mm) ZERT
(WF) (A) (WF) ® ‘ H (mm)
‘ 0.30-05-3YN ‘ 5.6 ‘ 176.9 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.30-10-3YN ‘ 111 ‘ 3539 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.30-15-3YN ‘ 16.7 ‘ 530.8 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.30-20-3YN ‘ 22.2 ‘ 707.7 ‘ 96 ‘ 245 ‘ M16*25 ‘
‘ 0.30-25-3YN ‘ 27.8 ‘ 884.6 ‘ 96 ‘ 290 ‘ M16*25 ‘
‘ 0.30-30-3YN ‘ 333 ‘ 1061.6 ‘ 116 ‘ 290 ‘ M16*25 ‘

FERATIKIER, HEOAHBFHEAR.

GG

AR

E e
(noont
\’_ﬂmﬂnﬂnﬂ_‘\
T
N i 428
size

F'_' :ﬁ:%?ﬁ Product Parameters
FREE | memn | sese | OPRY (M) sy
(HF) (A) (WF) ° ‘ H (mm)

‘ 0.40-05-3 ‘ 7.2 ‘ 99.5 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.40-10-3 ‘ 144 ‘ 199 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.40-15-3 ‘ 21.7 ‘ 298.6 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.40-20-3 ‘ 289 ‘ 398.1 ‘ 95 ‘ 245 ‘ M16*25 ‘
‘ 0.40-25-3 ‘ 36.1 ‘ 497.6 ‘ 106 ‘ 245 ‘ M16*25 ‘
‘ 0.40-30-3 ‘ 433 ‘ 597.1 ‘ 116 ‘ 290 ‘ M16*25 ‘
‘ 0.45-05-3 ‘ 6.4 ‘ 78.6 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.45-10-3 ‘ 12.8 ‘ 157.3 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.45-15-3 ‘ 19.2 ‘ 235.9 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.45-20-3 ‘ 25.7 ‘ 314.5 ‘ 96 ‘ 245 ‘ M16*25 ‘
‘ 0.45-25-3 ‘ 32.1 ‘ 393.2 ‘ 106 ‘ 245 ‘ M16*25 ‘
‘ 0.45-30-3 ‘ 38.5 ‘ 471.8 ‘ 116 ‘ 245 ‘ M16*25 ‘
‘ 0.45-40-3 ‘ 513 ‘ 629.1 ‘ 126 ‘ 290 ‘ M16*25 ‘
‘ 0.48-05-3 ‘ 6.0 ‘ 69.1 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.48-10-3 ‘ 12.0 ‘ 138.2 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.48-15-3 ‘ 18.0 ‘ 207.3 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.48-20-3 ‘ 241 ‘ 276.5 ‘ 96 ‘ 245 ‘ M16*25 ‘
‘ 0.48-25-3 ‘ 30.1 ‘ 345.6 ‘ 96 ‘ 290 ‘ M16*25 ‘
‘ 0.48-30-3 ‘ 36.1 ‘ 414.7 ‘ 116 ‘ 290 ‘ M16*25 ‘
‘ 0.48-40-3 ‘ 48.1 ‘ 552.9 ‘ 126 ‘ 290 ‘ M16*25 ‘
‘ 0.525-05-3 ‘ 5.5 ‘ 57.8 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.525-10-3 ‘ 11.0 ‘ 115.5 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.525-15-3 ‘ 16.5 ‘ 1733 ‘ 76 ‘ 245 ‘ M12*16 ‘
‘ 0.525-20-3 ‘ 220 ‘ 2311 ‘ 86 ‘ 245 ‘ M12*16 ‘
‘ 0.525-25-3 ‘ 275 ‘ 288.9 ‘ 96 ‘ 245 ‘ M16*25 ‘
‘ 0.525-30-3 ‘ 33.0 ‘ 346.6 ‘ 116 ‘ 290 ‘ M16*25 ‘
‘ 0.525-40-3 ‘ 44.0 ‘ 462.2 ‘ 126 ‘ 290 ‘ M16*25 ‘

E AT EN, FEOAABFHEA R,

Producing capacitors The artisan
HINREFBEBNIE

SED SRR

SRR

=
5

B g
N

"

o O

Q00

=

11/12



PRODUCT
INTRODUCTION

HERAMERE
(DZ -YTG/ FE5)

Intelligent Capacitance Compensation Device
(DZ-YTGI/ F Series)

o iR Product Description

DZ -YTG/ FRI B B/IMEREN AT 0.4KVIRERRN,
EUSRESMREBHBERFZAER, REMEBFRAR. #iE
BRATHMNERASEFRARR, BREXSHOH
ST, BRI EREUTIIMEEE.
ZRIMEREEREE. TR, £ABEE, IRE
ERTRELRIMERIETEE .

o RIS & W Model Meaning

=~l. DZ-YTG/IFERR=IEHEEEEBMERS, FERE450V,
MERE40KVar, —RBE20KVar, “HAE20KVar,

DzOood

L ezu=s
EBESH
MR G =it

F S18%M=
A RBYT

A EFR

* FEARYFER Technical Features

o FRFEaRK

TR HIRIFF RIS EREE, JHiRE. Be5aw, X
BIEMARTIRIMEE, TLMEHXRESG. B8
RN BIRMR. HaicEes;

o EHEIEIR
BELER, BEITRA. BRIER, BEELES,
FTHEMFIEMIR ;

o EXHiEiRINEE
MLz EA85BIMUBANL, (EFAETIE, BWIRERERR;

o iREHMEINEE
ZHEAFETRT, RIBSETIRGAN, T3
IREMEIAZITINSRAAL ;

Producing capacitors The artisan 1 3 / 1 4

HNREFBARNIE

Human-machine
Interface Description

A5 EREA

DAZHAO

focus on production

o EIENERERN

ZERANER, BFEEBIRES; MBERETN
HitbTIF, ENHPEENRE, FERNEN, BRFHRS
IfF, BaeizERS;

o (RIFINREFTE

B&dE. XE. RiE, WEAKEE, BNEKSE, =HEF
FEERIFTIRE;

o BEi=HITRE
AANEERIRE, RIEBEGSHUTIRIERRIE;

o AHXHELIRE
BANRRER, RABERET R IRMBESEERNE, A
XS EEEEW.




DAZRINO KER

o FAREE Technical Parameter

EHEE S

FERE: ~220V/380V

BERE: +20%

RN : BRERAAT10%

BERR: EXK, SEERAT5%

BESTEE: 50Hz+5%

IHERiEE: <1W (UIBREBARRET) , <1W (FRAEEREE)

MERE RIFRE
BE: <05% BifE: <0.5% HE: Bif: <0.5%
IR <+15% mE: +1C MEEH: <+15% BE: 1T
AEESE KEBE: -40C~+55C
EHERZE: 100% EHIFFRE: 100K BIEEE: <2000m HEXHEE: 40°CHRF, 20~90%
HEZE

FESERSICEIER . N,

DL/T842-20034{R/EF Bk ( BARACEEARARM)

GB/T15576-2008 { {EETININEESAMERE SRS M) PHEMERER,

SRITSZSR EAARIS(RIPIIRE . REMIFIFEPEARIER DT ARE

o TRIEZETR Product Wiring Diagram

Producing capacitors The artisan

HNREFBABNIE

15/16

o FEARBE Technical Parameter

WMER BISHtE SMERT (EHIZR) LxWxHmm BERT
DZ-YTG/450-05+05 400 % 80x270 365 x50
DZ-YTG/450-10+05 400 %80 x 270 365 x50
DZ-YTG/450-10+10 400x80x270 365 x50
=HEHAb
DZ-YTG/450-15+15 400 x 80 x 270 365 x50
DZ-YTG/450-20+10 400 % 80 x 340 365 % 50
DZ-YTG/450-20+20 400 % 80 x 340 365 %50
WMER BISHtE SMERT (BHIZR) LxWxHmm BERT
DZ-YTF/250-5 400 % 80x 270 365 x50
DZ-YTF/250-10 400 %80 x 270 365 x50
DZ-YTF/250-15 400 % 80x270 365 x50
DHEME
DZ-YTF/250-20 400 = 80 x 340 365 x50
DZ-YTF/250-25 400 = 80 %340 365 x50
DZ-YTF/250-30 400 % 80 x 340 365 %50

FERARTIERER, FEORPRFHEAR.

O @.E"’fﬁﬁﬂﬁ%%ﬁ Capacitor Cabinet Configuration Reference Table

e

s EREaY
SRR S N 1]
X X 380V
RS485/CT UB RS485/CT
EIRUFB NSRS HNELLTE 1]
X X X 220v
RS485/CT N RS485/CT

PR e
—

=i

HME 485 1B
BHET IR T

—RREEREESE. RERZEE2200mm. 600mm. 800mm, EHEERFHRARENT:

HAEREE (mm) 600 800

TAEEE (mm) 600 800 1000 600 800 1000
BAKIEHE (&) 8 10 12 8 10 12
RAUIESE (KVar) 320 400 480 320 400 480

i EINEEHKFEES0mm, ETREE200mm, SEEHAE500Kvarll EEEESER,




Produci itors The arti
T ossreanze 17/18

o = miftiA Product Description

PRODUCT
INTRODUCTION

Mg TR
(DZ -ZNG/ FZ%1)

Intelligent Capacitance Compensation Device
(DZ-YTGI/ F Series)

DZ -ZNG/ FRIGUIEN B BAME T I AT MIEK
BEENEE, SHERNERIT. DEIRIIMES. T8
RiFETT. SEREBMERNEESR. THARKBRA|[AER,
BRERSHOBEBSTITH, ERIMBEERNTIMERE.
ZRIEEAREMNRE, FFEER, FRKER, TE8DE
HiK. BIE7%BEIREERTEZERASRNBIIIE,
BE14%ENRERTEEERAIRIBESIE.

\

o BIEE Y Model Meaning

. DZ-ZNG/FRR=AEHAMUSEREMERE,
HIERE480V, FERE40KVar,

DzOOood

Human-machine
Interface Description

AN EREA

DAZHAO

focus on production

ZNG =#a3b HEfss
ZNF S1E#M= RIS

A EFR

o FEARYFE Technical Features

o FEEEEIRI
BELER, BESERA. BREEE, BERSR
0#E; TIEES, TBAOIFIERIS;

o DRIEHIEEAR

SREBTIRIRINFIGER 2 SRR, RIBIIEEHR
TR, HINRRHRTREEN, RIBRETTINRER
DRF=EIRY), BRRTITIR;

o EXtiEiRIngEE
ML ABSBINTUEAL, (EFATIE, WBIEERIR;

o HDEIEIREEE
TAERIIHERIERER, SEMRRETBE, &%
BABIH. IH, HEESN, ERHEE;

o [RIFIIRESTE

BEEE. RE. KERERFRF. SMAOSRERF . BRIER
2EWREIRE, ERERED;

o EIaENZARIERH

SERAIER, BEFEERERS; MHEERERME
TfE, ENHIEEMBE, FEHEN, BRFHORFZIE,
BreiEENS;

o BSiHITEE
AOMEETIRS, RIEEEGSHITIRESRRIE;

o Ba*MEINEE
SHEAFEIRT, RERWMGN, RIESHELHREAN, T
DARIBSIMEAEITINRML .




DANZ ‘ ,Ao AER Producing capacitors The artisan 1 9 / 2 0

HNREFBABNIE

o FAREE Technical Parameter o FEARBE Technical Parameter

| A | S | SMERT (LxWxHmm) | R |
HiRSH
DZ-ZNG/480-5-P7 420 %166 x 450 340% 152
ﬁféa&: - 220\//380\/ %Eﬁ%: + 20% ﬁz"ﬁﬁﬁ%‘;: SOHZ + 5% DZ-ZNG/480-10-P7 420 % 166 x 450 340% 152
DZ-ZNG/480-15-P7 420 % 166 % 450 340% 152
IEEE#E: <0.5W (IIFREBERAT) , <0.5W (IR A\FBERSHT) R iN DZ-ZNG/480-20-P7 420 x 166 % 450 340% 152
DZ-ZNG/480-25-P7 420 % 166 % 450 340% 152
s DZ-ZNG/480-30-P7 420% 165 % 450 340152
DZ-ZNG/480-40-P7 445 166 % 450 340152
EE: <0.5% ( ESO ~ 120%%;@%%%&%@?9 ) mgﬁ' <1% inEnE! +1C DZ-ZNF/280-5-P7 420 % 166 x 450 340 % 152
et e et DZ-ZNF/280-10-P7 420% 166 % 450 340152
HBift: <1% (f£5% ~20%FEEEEN, <0.5% (7£20% ~ 120%5EEieE R )
DZ-ZNF/280-15-P7 420 %166 x 450 340% 152
FUEDH
DZ-ZNF/280-20-P7 420 %166 x 450 340% 152
RIfRE DZ-ZNF/280-25-P7 420 %166 % 450 340% 152
DZ-ZNF/280-30-P7 420 %166 % 450 340% 152
HBE: <0.5% B <1.0% BE: £1C BdE: +0.01s
M BISHUE AMERST (LxWxHmm) RHRT
SEiES
AIRIESH HRE DZ-ZNG/525-5-P14 420 x 166 % 450 340152
ERIEE:  100% —— MRME: —40C ~ 455 DZ-ZNG/525-10-P14 420% 166 % 450 340 % 152
DZ-ZNG/525-15-P14 420% 166 % 450 340152
HAEISETHEERE: <0.1%/4F EXBE: 40CHY, 20~90% RN DZ-ZNG/525-20-P14 420 %166 x 450 340x 152
DZ-ZNG/525-25-P14 420 %166 x 450 340% 152
geoEcess T - o . 3 =y
RERSRIIREE: <0.1%/AX BIRRE:  <2000m DZ-ZNG/525-30-P14 420 % 165 450 340% 152
DZ-ZNG/525-40-P14 445 % 166 x 450 340% 152
EASERSIEEIERE. NEMEE. BRTSREMERFFIEE. REBFFEaThEARTNERDTIRE =N EERT=5P1A R A R
SRZE: DL/T842-20034REFHE (BB REEMFMIALM) . GB/T15576-2008 ({KELINNREFSIMERE
SRS ) AR RER DZ-ZNF/300-10-P14 420 % 166 % 450 340152
5N, R Ry o
DZ-ZNF/300-15-P14 420 % 166 % 450 340152
FugEDH
DZ-ZNF/300-20-P14 420 166 % 450 340152
DZ-ZNF/300-25-P14 420% 166 % 450 340152
DZ-ZNF/300-30-P14 420% 166 % 450 340152

s FmIZZETR Product Wiring Diagram

E ERATIEHEN, FEOARBFHEAR,

ERR EEEEN SYIE
= o HRIERESER Capacitor Cabinet Configuration Reference Table
-
;:‘\:T‘I\}Fbi%lbﬂﬁg% QH%I}?;EDE? —RREREESE. FENEEN2200mm, 600mm, 800mm, HEEEAHEARENT:
380V 1ET SRR ‘ ‘ ‘
RS485/CT Up  Rs48s/CT RIERITIET PUERE (mm) 600 800 1000
MABEE (mm) ‘ 600 ‘ 800 ‘ 1000 ‘ 600 ‘ 800 ‘ 1000 ‘ 600 ‘ 800 ‘ 1000 ‘
eren | L | o0 [ e e « [ o | o [ e
X L
AR 2 = s | 4 | e | 8 | 4 | 6 | s | & | 8 | n |
® & & 220v . e 5% ‘ 160 ‘ 240 ‘ 320 ‘ 160 ‘ 240 ‘ 320 ‘ 240 ‘ 320 ‘ 400 ‘
RS485/CT N Rs48S/CT it BARE o
(8z0) #Hh ‘ 120 ‘ 180 ‘ 240 ‘ 120 ‘ 180 ‘ 240 ‘ 180 ‘ 240 ‘ 300 ‘




DANZ ’,AO AER Producing capacitors The artisan 2 1 / 2 2

HNREFBARNIE

o BARYFE Technical Features

o (BEF. (FIREE. WIEE o MBIRMERELY. TGS
BRORAMESHAEN A, S=EpARsT, RN AN SERBINRESESE, ETISRLRERS, FTREF, N

PRODUCT 5. BREF, 2.
INTRODUCTION . BRENS. BERET . EEES. PHIFE

BB T 2R, XEERALHME, ETR% SNIRISETNERRR TR, RN EEAE, KT
INSREL, ZBSHEEER—K, WRTEL; FRPRARE.
1] = o q . .
C *'Mﬁi’va&Rd' Specifications And Model Dimensions
FaifseRs ILEEEARAE SEFR SNRImaxRT (mm) | 28R (mm)| ME EgeRS LEEBARAE SEEE SNYRImaxRT (mm) | 28RS (mm)| MR
E* . T ‘bh = OO Reactor Type (Kvar) Voltage drop(V) AK*BE*CH Installation dimensions | material Reactor Type (Kvar) Voltage drop(V) AK*BE*CH Installation dimensions | material
$ ‘JI 205+120°225 [ ooe4 [ @& | 225*110%225 [ 1oes [ & |
15 fl: EE CKDG-035/0.28-% 5 T om | m || K0607/030-145% 5 T T
. . } : 205120225 [ o0e4a | @& | i } 225120225 [ now | @& |
Series Tunlng Reactor ‘ CKDG-07/028-7% L 1901107200 | e | @\ | ‘CKDG EEGiLEE w 205120200 | o | @\ |
} o 2254110225 [ toes [ & | i o 230+140240 [ noe [ @/ |
‘ CKDG-105/0.28-7% B 205+110%200 | 1o | @ | CKDG-21/030-14% B 245+145°245 | 10008 | @ |
225+110°225 [ 1oes [ & | 245"165*265 [ 10118 [ @ |
‘ Gl @ 205*125*200 | 1oes | @ ‘CKDG'Z'S/O'N'M% @ 245*155*245 | 018 | @ |
230*140°240 [ 1099 [ & | 250*155*270 [ 13113 [ & |
‘CKDG-1.75/0.28-7% 25 7% T e | ‘CKDG-3.5/0.30—14% 2 14% T oo 8]
: : 2301407240 [ 1o | & | ) ’ 29041754275 [ 133729 | @ |
‘ s L 2454145245 | 101108 | @ | ‘CKDG 42/030-14% - 245*165°245 | 1028 | @
i - 245165265 [ 120118 [ @& | ] v 250*155*315 [ 1313 [ & |
B ez R . o AIE A\ . ‘ (KDG-28/028-7% 40 245+155°245 | 1018 | @ | CKDG-56/030-14% A 300165315 | 515 | @ |
O ann & Product Description B= 5 X Model Meaning 155 = o = - =
CKDG-35/0.28.7% 50 250*155%270 [ 13113 [ & | CKDG-7.0/030-14% 50 300165315 [ 255125 | @® |
o 245165245 | 120028 | @ | o 300175*315 | 255135 | @ |
MABHEFREAEERTENIFEMRERLIER NS ;. 30DZ-CKSG-2.1-0.48-7%=tEF kLR~ BkEBHTE, s Wﬁzm;ﬁﬂ“(mm) LERT (mm)| HR WSS | EASESE | sEEE Wﬂim;ﬁﬂ‘(mm) LERY (mm)| HR
=3 N N - s Reactor T K Voltage di AKBE'CE Instlatonci al Reactor T K Voltage d AKBECE Instlaton cimensi al
UDE%MT’E%; DAZHAO%EU%H%’E]I%%*E%%; ‘a“éﬁ&”ﬁfﬂ‘rﬁﬂ EE;E%&D“SKV, gﬁ%‘§521 Kvar, EE*)'L’—_%‘_—(jﬂ7%; EEEE"J cactoriype (o) oltage drop(V) = Installation dimensions | material eactor Type (Kvar) foltage drop(V) 5 nstallaton dimensions. | material
BRI, BRUEREE. WA HEE. BRI, BEESER30KVar. ascomneTs| s & |ascomss s R AN -
BRTF3. 5. 7. 11 13RIERAFMTIIMERERIER, 2051207225 [ 90°84 = 225%120%225 I 110794 [ &8 ]
EIREAARE . MENRELY, EREABBEGMIRFER 7 -cKkO O-0-0-0 I e i i i B w020 | 0% | @ |
Re=et. T T e 251022 | ioss | & | s040240 | 110099 | & |
I B (%) ‘CKSG-1,05/0.48-7% 15 - o ‘c1<s<5-2.1/0.525-14% 15 e D
AERREE (KV) 225*110°225 [ noes [ @\ | 245+165°265 [ 1018 [ @ |
Fooos e X L = . X &l
MESE (Kvar) ‘ OSSR & 05125200 | 109% | @ | ‘CKSG 2Bf0525-14% @ 5155245 | 12018 | @ |
BRAN: MR-l ‘ ‘ ; ‘ 14% ‘ ‘ ‘
G-Fst § o 230140240 110°99 3 _ o 250+155+270 1334113 3]
C—;;%;‘I; ‘ TR sl » i 245+145°245 | 10008 | @ | el . 245+165°245 | 1028 | @ |
: : 230*140°240 [ noew | @& | ) 290*175°275 [ 13129 | @& |
1HE: S-=48 D-#48 ‘ USE2 et o 245+145°245 | 120008 | @ | ‘CKSG“/O'SZS 1w 0 245+165"245 | 120028 | @ |
HREXERHIER ! ¥ 245*165*265 [ 1018 [ @ | ! ) 250*155*315 [ 13113 [ #® |
ViR ‘ TESARBHE Y 245155245 | 10118 | @ | e i @ 300165*315 | 25125 | @ |
i i 250155270 [ 13913 [ 8 | X ) 300165*315 [ 2554125 | & |
‘ UEEAUB & 245+165*245 | 1028 | @ | ‘CKSG TO0525-14% i 3001175*315 | 55135 | @ |
o fEAKM Use Environment ERMEE RTRIIGSRTREP BREE
RRS HEESH
BUERRE: 230VAC ~ 1000VAC WATHRE: GB/T 1094.6-2011 (B8 ) . IEC60076-6 { Reactors )
BUESER: 50/60Hz HpmEEn . F4R . H R
I$E. <65dB
NES IR 1%. 4.5%. 6%. 7%. 12%. 13%. 14%
EEE. —25C ~+45C TERE . #hib—5%%2H 3000VAC/50HZ/60s, & KildhE:
imf = ) Cith O
HEXEEEE. <90% BRI, 125 CIIAFFT (EHE)

BREE: <3000m (=EKATER )

HfthER
FEERNE RIFFBNEG, TRZWMES; TZRBBENE. SBORURBIRESEEE;



Produci itors The arti
T onsreanie 23/24

o = miftiA Product Description

PRODUCT DZ-100CK-SF/BRBIFHMEI IR E AT SaE S ME R BRE, AN E e, B AR TR
MERTIANGE, BEREASTUENE, EINSTEEEASRETTR. BIKS, URIBEENE SHER
INTRODUCTION HEA BRI B ARENE ., S RRABRANERYT, INENAS, RRER5E.
o BARYFR Technical Features
. RIPIEEFS o SERHEA
0 &6 (—}ex3:- 2 BEIE, FE, S 8. ERRIPETEE, LBk RAMCUBEB T RS TRIS SMRANT, ARIZTE
E EB%I}J?‘b1=;I$JEE BHBIEERER, TREREESE, EKBAR BHRFENHEAN, ERIRTITR, BILRIES:
{FRZE;
(DZ-100CK-SF/BZ51) ”
Inteligent Reactive © SRitETH * RSTERIZ
: AR RS A RS E TERE S, FHE RMEBERSR, SRERNEFERRY, SERRNE
Power Compensation Controller SRRFHSETA. B. CSIBEE. B, T, ST AAEEAME, BN, BRSNS
(DZ-100CK-SF/B series) BN RRSSE S, BITHMERE;

o E(Et=HITEE o AHIIHELIRE
(EFMARLASSEINNY, RREMRSE, BRERR; BXURRER, BRANTIMER, BER-RITRET.

o fERZMY Use Environment

RS

=
MRBE: -25C~+55C B E: <+1%

HEXEE: 40°CHY, 20~90% B # <+x1%

fithiB0: Rs485@MREHL I=HIEEREL: HoWMERERRRS

S
IMER: 120 x 120 x 100mm ZERT: 113x113mm




DNZ ‘ 1/\0 XER Producing capacitors The artisan 2 5 / 2 6

HNREFBARNIE

o EmIZ&ET Product Wiring Diagram

. EITNEHBE B R PRODUCT
INTRODUCTION

—IRE RS
BEE

sie {REZM+MES=HI R

Low—Voltage Reactive
Power Compensation Controller

[N
—RE RS
BIRA/B/IC
) 27 15t

BcEE i

uc —
N

BcEE i




DAZRINO KER

Producing capacitors The artisan
HNBEFBEIENIE

s TRIELETR Product Wiring Diagram

27128

o = miitiR Product Description

DAZHAORSHEETEIAMEEHE, RTINS HRES L HIMCUME TSI BRI TN — A, B, N #
BUSBER SRS, SEREHITURME, BHERTFIERSTHANGS, DO, BHEES. . m:‘.ﬂ = 5
HFERRBERNERT, INVENAS, ZEERSE. e

e ol

o BARYFE Technical Features : : E§ |
o EIESHEMTIEE o (HAIEERS
ERIMEEBSERERSES, LTSRS BESE. RE. SR, AF. SREPSTE, HERaNE | Vﬂﬂ |
BY); DERTRBNSSRE, SREBHERE, REIRER, TREIREEE, RIFEERSET, TG | . |
BB M RER; E; | - |
. SEFHEAR . GEREHNED | L L L §
REMCUMBTFRHERERA, SARHEE. Bk, REBBERSR, SRERORRFER, SERPOU | o ol (e ol o
i, NREMSHE, HEENBBMTLE, B BRI, BUTHOEEAME, TRE TIMNSEE, MR : LB LR LR
& ERRLIORIIRAE, ARERHMTFTRAMERE IR BT RS BT RAME R | HEeE Hedee Hew o
MEBT (18] ; | - “ i ZT oo Co
I L 2[3] 3]+ o |

o Fil/ EEUHIE . ESEHEE | | = ] L = |

EBENTHReEY, AIRIBERE. A, IEREEFTIIRER
SERFEHEARRANSIR; TR FRFEERS
BORRNEIRR, EFH I ERRRERTIBE;

o fERSMY Use Environment

EFMER LA BINI=HIINY, REEMATSE, BilRsR,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

HivEEREE

RRA i B &
N =3
FERE: AC380V IMERE: -25°C~+55C mE— m
i LTI e .
BERE: £20% HEXBEE: 40°CHY, 20~90% 1TE :i |
| { I
| .
WESRE: 50Hz 5% MBiREE: <2000m | ' l i
| |
i MYM
EERE: <5W RtER: ERUBENE. SHLRURBRESHKEE | i |
| |
| P |
— W1l e 7615 10 13 127 ] . .
| s Mg 2 w29 B
B E: <x05% B W <x1.0% | (s e 2 [ %2k [1.% |
} ABCNIala"bblclc[] 1ot & o H P o & F
If]-m.-Elﬁl $i1.5% ﬂm_ﬁr: $12% } ;,2 3456789 10 L_lct . _lct . [_|ct - }
} == | | | | EDT EDT &0 }
e e *;
HibEY: DAEH<305 BAMET:  HAME<204, DHME<108 SIMEETEE
S BERT: 113*113mm




DAZRINO KER

PRODUCT
INTRODUCTION

mEEFX

SCR Switch

o @B product Description

e Y. &\ Model Meaning

DAZHAORFIRBEF X (fErlishE ) R—Ma B a7
PRI FINERIRE, TERMEBNIMHEE. XEREE
B EEHIS R EAtON. EEREITER FTHERE
7%, AEREEERTIRERRR, eI EERN
g, BEASTRY. REIAREIIRE. BTFEREMAA

R, BRATRESNERERIESWHEZR

DZ TSCL OO

ZHEE: A
SRR Y
HFEEE: 45A 55A 85A

TSC: s

AR

o FAREBI Technical Parameter

MRS EHsH

RRERBE: AC380V 250V
BERE: +20%
TAESmE: 50Hz+5%

B4IEE. DC12V, {REFMA
BHIEF: 20mA
’ADRTE: <20ms

RS S

WEEE: -25C~+55C
TEXHERE: 40°CHS, 20~90%
BEEE: <2000m

* FARYFE Technical Features

LREFNMIRT: 184.5£8%35mm
FFFRT: 162x116mm

HfthE=R

FEPNERE RIFASENEL, TRIZWR
=ol; TZMBIRENR. SBERIUNEMR
MSEEE; THEWARFARRBIME
RAEWE S AMLBERIRIF;

o IEERY), TiER, TRE, TXKE
- REAZRCH, MegRE

o IR ERRAE, /NF20ms

+ JFHteEE

o R(ERE, ERABE

o RN T/HERE

o fEEAYE Product Number

MBS
DZ-TSCL-45/A
DZ-TSCL-55/A
DZ-TSCL-85/A
DZ-TSCL-45/Y
DZ-TSCL-55/Y
DZ-TSCL-85/Y

*M=TTE

=fEHH

DMz

BEFEIR ECERAESE (Kvar)
45A 20RLLT
55A 30K LA
85A S50KLATF
45A 20K LA
55A 30RLLT
85A S50KLAT

PRODUCT
INTRODUCTION

SEaHX

Composite Switch

o ik

Product Description

DAZHAORIIE ST X ERATRER DR AR BT E s IMRE M,

HEh& 7 Al

RS AR, BIENINDERESRLIMEBE

HESENERIFRESRE, FAIEHENARENTIRE, KARHET
RERLNEFEE. HESSENESHRIPTE, ARERNZSE
AIEESE, SEBENE.

* RARKR
ok )
T OB IR
RLRIPEE

EEIEmINRE
nF IR

Technical Features

BHISKEEITRRAN . SHERIETRIE,
TIEREN, TRE BRI

R R IR BRI, Bftmizit
BIE/N, TER, BERESRE;

BegisminiTNR, BEBERE. BaFIiE.
SRR/ S RIFTIRE;

RAMELASOENIES, #EBHR, R5E;
REFTMERNES, TERETE;

o £ L AYE Product Number

MBS
DZ-FK-A-45
DZ-FK-2-60
DZ-FK-~-100
DZ-FK-Y-45
DZ-FK-Y-60
DZ-FK-Y-100

*METTE BEFRI

EERAESE (Kvar)

45A 20RLAT
=iEstb 60A 30RLLT
100A S50RLAT
45A 20 LA
DHEME 60A 30RLAT
100A S50RLAT

Produci i Th i
e aesesmre 29/30

o FAREI Technical Parameter

RS

EiER/E: AC380V/AC220V
BERE: £20%

THERER, 50Hz +5%
EERR: 100A/60A/45A

=S8
A& : 20073R
. <1.5W

EREE: <100mV

FFXEmE: =2500V

MAZATE]. <100ms

FrRIEESXWER: =1s

BHIBEAARE. =HA<50KVar, ABSEE;
BtE<15KVar, YEESX

s

LEIMRT: 150mm*99mm

TETE, $7Tmm

EfthER

BERERNE RIFFBREMG, TRIZ
MR TZRBENE. S8k
AN BBt ST s

o #Y.E &\ Model Meaning

DZ TSCL-ON O

HETR

%%@Eﬁ&i{
SAFX

A=HEA
Y853

AR




DAZRINO KER

PRODUCT
INTRODUCTION

APFHIEEB IS REE

Active Power Filter

o FEAREE Technical Parameter

o MR product Description

DZ-APFEIREMSREE, R RBETHITINEE SRR 20A~900A
BOTRE AR FRA (DSP+FPGARSIRSS ) MENSHIHILE o TIFOE -20%-~+15%
. SFEE = - N L
WMEEIDORREE . TSR, —U2EREERiS “ Tt 50+2.5Hz
WA, BIENENSRETRBTIGEEE . RLARN _ SrRE —
AR (RIER) SRHTESRMEIRESR, — S =
WENIRIRIS o f [ RESRGFER. BE WESH
B o P4
it — -
ZEERAETREHCH, HHENRATREENNRE, T e RE4d5, R5232, Modbusymix
SEH— MRS GRS EHE T(E, RAEEEN SRR 10°C~ +45°C
R TIE RSB E LCL RN, SR T IHA0BTR E e 40°C~ +60°C
R TSR AT RAVD TS . R 7 —N o
B AR IR R 5 —— —
TSRS <1000 (BiEkFBES)
PEBELEATRME, BERETEE. TERMETER
Rk, BERREN, REER. BRARETF, REHE. o —
B ERLESEERS, BRTURA IR R Lo G R
BB o TS >97%
IRV ) <100us
LA (E] <10ms
o HIS 2\ Model Meaning :2
SR X B ETMEER <3% (@)
5
DZ APF 050 400 3L/M = [ EAyEe EREXUS
FHEE 12&
ol SISt <65dB
REEBE: 400V/690V ﬁﬁaﬁ‘é 120%
EAMERT (A) FFiR 21.6KHz
BRBARRBERT
AP EFR

Producing capacitors The artisan

HNREFBARNIE 3 1 /32

o EFRMBISRRT Product Model And Size

HEEE [ 380V (-20%~+20%)
SRR 50A ‘ 75A ‘ 100A ‘ 150A ‘ 200A ‘ 250A ‘ 300A ‘ 350A ‘ 400A ‘ 450A ‘ 500A ‘ 550A ‘ 600A

HingE EEAEUHEBKER: RSUHK12E, HHEFE4200A, BRER—M=EHIES.

BEAN M ==% 1 =tams
550°268"570 o o
8006002200 600#800*2200 1200*800%2200

R 600*800*2200 800*800*2200 1600*800*2200

(w*;:: ) 8008002200 800%1000+2200 1600%1000*2200
8007100072200 1000%800*2200 2000*800*2200
U0 2208 1000%1000+2200 2000%1000*2200
1000*1000*2200

ZEA b EEE [ 2R HZR

PP P20 (HEAfthFHIFEARATES])

HEEE [ 690V (-20%~+20%)

EEAREE 100A 200A 300A 400A

HingE EaaaErUHEKER: RESAHK12E8, MHAE1500A, BRFER— M5,

25 a Y M =tE=% 1 =tams

R<mm

WD) 8008002200 800+1000%2200 1000%800%2200 1000*1000*2200

2 iz

B P20 (BEAfthFHIFEARATES])

13
12,571

(i

iE:
1.REIREME

2 RIREBROFAFLER
32400mnt, RAEFFLEO0.7

o BREYRY AR 4iE Typical Application Areas

Gyl St TR THDEe(E RIS
Bk B, UPS, ImesiE. itEH. T988kT 25% EREREUtIME
ek, BIE. Bk Y17 TIREAT. SN, EBE. RIEEEERE 15% EhigE
BRHS. BdEPO. |7 UPS, FFERFEEIR. ZHMESIE. T5HENT 20% EhigE
EreEM. Bl TREAT. EEEE. LTEL. R 20% ShigE
INEHIE RUEH. EBIEH 30% Ehini
=R, L Lies, BMRE 35% ErhinEEEit M=
aE FREIAE. EBATAR. AL 40% ErhinEsEit M
B8, % VIR, TEET 50% EhigE




DAZRINO KER

PRODUCT
INTRODUCTION

SVGRFLE TN =S

Static Var Generator

o T itk Product Description

DZ-SVG#IERINRERR, B—MATIHELIME. FHE=8
AT AR ISR R B DB R E . 1% mR B

TR TR A SR FR I R R AYFR SR SE MR

#ME, FEXSTFRIRME, EREIANERITTIH TIRE (a07)
TOELROAME, BEAMAERER. IMEREE. (MEEFEX.

UENS. LEREERENE, MZNATET. ADA.

PN, REHE. HuB3E. BOBLETT /.

ZANRERTBIIIINBERES CT , SLATHGNEMAERSE
TRERERIR, bRt RS M IR A Y R BB ST FR R
FRIEKER, BT do leEATMEEIATN. . RESHIE,

RSB IGBT ThEanifas =~ S MERIR (K. TIh. 7~ )

KBS RAAERAMERRENER, SIS MAIERE
[RENETRE.

o INEEYF SR Features

. ms

2 M Model Meaning

DZ SVG 050 400 3UM

=

3L: =%

4L =1HmZ
REBE: 400V/690V
FEIMERTE (A)
BIERDRERRD
AV EFR

HMEFRIRE

N/ —

FRAIERIR

w(0)S )Tmr"? NG
]

DZ-SVG ERERSVG
BIERATN=E 600kvar 600A/400kvar
R <2.5% <3%-4%
IRE <60dB <70dB
ST RSN R B T 80kHz/4kHz 20kHz/1kHz

O H*ggﬂt&Rq— Technical Parameters And Dimensions

Producing capacitors The artisan

HNREFBARNIE

33/34

SVG (kvar)
migiase 35 50 75
HERRY 480*200*530 \
FUE
(WHD) (1) \ 680%200*530
ATHE S 15
TiERE 380V/690V (~20%~+15% )
BA TiEsR= 50Hz (~10%~+10%)
FRELRES 100: 5~10000; 5
600*6004E5/k Piwer< 100kvar
( gﬁ : 800*6004E#K Piwer < 200kvar
(32) 600*8001E#A Piwer<300kvar
800*800%E4k Piwer=600kvar
HMETRIR 2-13R (EREEBHRAI50% )
- IERIEEREE >97%
MEFTD —1~+17]
ME=RARFEE 100% AN FEREMME
@A RS232. 485. Modbusii¥l. TCP/IPHik
. EFED RS485, MO, CAN
ﬁi AR B, FESHEEY LIS
iR B, BETERE00XREEE
i ISR i/ B S R
20 RZATE) <10ms
BIRFE <2.5%
BEAA HEEXIS
\ 18R <60dB
1;:]_: SRR HISRER 160kHz
ST RITE 80kHz
7R LESTER 4Khz
1RIPThEE HE. KE. 3. 8. BEEZ KRR
CTRENE TRELA/EB kI ATi5E
_ BHERY B SRR ER
zz ERES 25kg ( <75A/50kvar) 50kg ( =100A/100kvar )
BRe BRHE
TERE ~10C~+457
RiE b7 <50003K (10003KEAL, SHEBAN100KINZRIE1 %IEF )
£ HERHREE < 95%FEFE
PR IP20 ( E=BPERATER )
1 AREHAEHIEIR, IR R EMNNEREEZFE &SR,
gadE— = N
AILE i TR fé%ﬂ%gm
HE 0 T o aToomm BRA0.7
BRGA7 N
I ”




DAZRINO KER

PRODUCT
INTRODUCTION

SPCHELRERIERE

Smart Power Quality Correct Devic

o = mitiR Product Description

DZ-SPCEREEEERERIEZEE ( Smart Power Quality Correct
Devic ) 2TESVGHER L FR, ERTRERBAXERE
RENFEENBTES., ZEEEAHN= BT RAERM
RASeEIAES], FIERBEMEAME=EAEE, SeeX@ET
TINNE, LI ES=AREIEYE, JEREaXHERE,

o RI.E &\ Model Meaning

DZ SPC 050 400 AL

4L: =1EmZ
REEBE: 400V/690V

MEIMZERTE (A)
DAL R B EER
AV EFR

o BARYFE Technical Features

RIER

NEEARARECR = AR, KIRRH (R ERCE NIRRT ;
ERTNAZIRITE, RSEEMITIEREL;

o LNMEBEERE. RERREE. REkERE, NERS

G

o BEMBRAT=EAFETRNTERIHZTEORA, EK
L ESEED;
MESRYF

SCHENSEE M, BRRTIARATIE) < 10ms;

o RAESEHN=FFEN, BHRFERRIERN, FFRIRFEM
SERFEER;

o FMFRAR, WERREREN, RARKTEN;

RIFThEET 2

+ SXFADSP + FPGATREE DB FIEHIA, THeeE. o
SHS;

o RABRWENS, IRSAFIY S, VAN TEHIMEM
ZREBARCT;

« BEAMUNERT. BeeBREEioR, sEIESSET
RERERERITE, HIRERSHTIARER;

Producing capacitors The artisan
HNBEFBEIENIE

35/36

o BAREBEMRT Technical Parameters And Dimensions

‘ SPC-35 ‘ SPC-50 ‘ SPC-100
RRESH
BERBEER 380V/690V
BNEREEE -40%~+20%
L PHES 50Hz/60Hz (FEEl: 45Hz~63Hz )
BHE =R=%. =&M%
e >97%
EBREIARN =¥
TEREIEIR
=EFEMEREN A <5%
W (REATFEHMEET) 50A | 750 | 150A
TIAMEBE M=1~1TT3
TPHEE 35kvar ‘ 50kvar ‘ 100kvar
TIHMESR >99%
3 K2 18] <15ms
{RIFThRE WERP. RERP. @A, BEHREFRP. 3HMERP, BENERFS
BoERThAE TREREEREDES, HCHRPIEDIRE
PR Al
HEA IRECWIFIHESR (B FH. ipad. Ei2ABKEHTwebSE]), WTSCEIERRRSEISE )
ETHE BIE. B, R, DXREH. ETrRESFIETER
BRED RS485/CANRO]
BRI Modbustill / Y
MRS
R W935 x D262 x H1081 ‘ W700 x D387.4 x H1046 ‘ W700 x D569 x H1070
s TENAE
== 58KG ‘ 72KG ‘ 115KG
REHN PonEEC/ B (HAF. FAF)
RERA <5E
MEER
EATIRE -10~45T
BREE <1500m, 15003KLA E3ZARGB/3859.218MaEH, HEHKREHE
221 P44
mnEREN 8%

EL - REFME AR, AT AR RMNIEREE RS ENRYT,

30Kvar-#52=

50kvar-#12e=t 100Kvar-#122z




PRODUCT
INTRODUCTION

RN E-CBBEAXRS
CBB60. CBB65

DANZRINO KER



DANZ ‘ ‘A o XER Producing capacitors The artisan 3 7 / 3 8

HNREFBABNIE

o=t Sl s o SNpEE. RTINS, BRRE, REHE, FEGS;
kSR <2000m o ERFWBEIREME, BRI, WERRFHE;
EEFEE:  110%Un o BEME, HEEMERNREHEELREE, FRRLTE;

PRODUCT ERAFRRE:  130%In o BERITHRELE. P,
INTRODUCTION Vo I >3000s (20°C, 100V, 1min) . BEEEOK, BENEEE, SEBSHMNL;

CBB60

HATHRE: GB/T3667.1-2016 / IEC 60252-1:2013
ZEWHFRINE HREEE: 250VAC. 300VAC. 370VAC. 400VAC. 450VAC. 500VAC
LLER:. So 3
Parameter e
ETAE:: CQC/CB/CE/VDE /UL
IMEXTRZ:: ROHS REACH BEARE: ~5% ~ +5%
BASE S
IRFERAIEDE: Tand<0.0020 (100Hz 25°C)
tRIEIMIERE: T-T:=2Un/2S
RS E: T-C:=2000VAC/2S

ﬁ%“%ﬁ*ﬁ%ﬂ% FEmBE Product Parameter E’ °
RRBHINERE (EAER) (@) () (W] ek dE A BRI

D1+0.1 ‘ H+1 D1+0.1 H+1
Metallized Polypropylene Film AC Motor LR TUUE  HEFR R R T T R e T - R N
Capacitors (General Purpose Series) RN T [ [ P BT P :
‘ 15 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘ ‘ 20 ‘ 250 ‘ 50/60 ‘ 328 ‘ 68 ‘
‘ 20 ‘ 450 ‘ 50/60 ‘ 414 ‘ 68 ‘ ‘ 30 ‘ 250 ‘ 50/60 ‘ 379 ‘ 68 ‘
‘ 25 ‘ 450 ‘ 50/60 ‘ 45 ‘ 7 ‘ ‘ 45 ‘ 250 ‘ 50/60 ‘ 432 ‘ 71 ‘
‘ 30 ‘ 450 ‘ 50/60 ‘ 45 ‘ 71 ‘ ‘ 50 ‘ 250 ‘ 50/60 ‘ 45 ‘ 71 ‘
T =T =TT -0 > T > 7T >T->7
‘ 50 ‘ 450 ‘ 50/60 ‘ 50 ‘ 100 ‘ ‘ 90 ‘ 250 ‘ 50/60 ‘ 48.5 ‘ 93 ‘
QTR T ARAEEEA R, NENESAR FERTAR. BT, HONBNEEN [« [ o [ o [ = | w | [ m [ = | =« [ =2 [ w |
SHESERBR, FREWRIT, imm, RETHRE 50HzZ/60HE B3sFREBEI IS ENATIE S « o | w0 | s s | w0 | a0 [ a0 [ soe [ s | |
ToH AR SR E O ; ‘ %0 ‘ 450 ‘ 50/60 ‘ 60 ‘ 110 ‘ ‘ 160 ‘ 250 ‘ 50/60 ‘ 60 ‘ 110 ‘

A EMEE RIRSIHARATREF FEREE,




Produci i Th i
e eaesse 39140

PRODUCT

INTRODUCTION SIRER: 40/70/21; 40/85/21 o SNpEE. RN, SRR, E5E, FEDs

05
BRBE: <2000m o EASEIRERE, B, HEBEFHE;
EEAEE 110%Un BEMMGE, SEEMESRNESBEFENEEE, FRRLTE;
CBB60 RN
SEAWER: 130%In EERFHEEE.

H52%FR0E: =3000s (20°C, 100V, 1min) EAEGK, TRREE, BEERSHIMENTL;
ERARAGEIIRZ GHRNIBERR
(W taikARINFR)

Metallized Polypropylene Film AC Motor Capacitor

(Double Tub Washing Machine Series)
FEARZS2E Technical Parameter

?:z |I:ﬁ':| ;E‘L,E HiTHRE: GB/T3667.1-2016 / IEC 60252—-1:2013
Product Description -

BEEE: 250VAC. 300VAC. 370VAC. 400VAC. 450VAC. 500VAC
ARFERMEEIREREERENR. L& iz BT iRAASAEE A 50HZ/60HZER B3R EB BTl BEAETE: 1+0uF ~ 80+15uF
MESSESHEELREAER, FTREMERIT, MBIz .
:ﬁ*ﬁrﬁh%, RIE T BB T BRI EIERTE BEAE: —5% ~ +5%

RFEAIEIE: Tand<0.0020 (100Hz 25°C)
tRIBImIERE: T-T:=22Un/2S

FomiFRE: T-C:=22000V.AC/2s

7 SIS ReER:: So
§§E1%.1A1IE =f7%4%%:. B: 10000H C. 3000H
Safety And Environmental @BITINIE:: CQC/CB/CE/VDE /UL

Protection Certification PMEXSRL:: ROHS REACH weEE  BWMNE  RUZINMG




DANZ ’ ,AO AEH Producing capacitors The artisan 4 1 / 4 2

HNREFBARNIE

[ =] =
an%gﬁl Product Parameter F‘nn%& Product Parameter
o Z s 2= R~ (mm
wESE e e pigRe) WESE TR e AR G,
(HF) (V) (Hz) D140.1 ‘ D2+0.2 ‘ e (HF) V) (lniz) D10.1 ‘ D2:0.2 ‘ H1
‘ e ‘ . ‘ 50/60 ‘ - ‘ -y ‘ = ‘ ‘ 2349 ‘ 250 ‘ 50/60 ‘ 50 ‘ 414 ‘ 85 ‘
513 450 50/60 %0 354 . ‘ 30+12 ‘ 250 ‘ 50/60 ‘ 50 ‘ 414 ‘ 85 ‘
14 2 50/60 M4
‘ 6+3 ‘ 450 ‘ 50/60 ‘ 50 ‘ 354 ‘ 75 ‘ ‘ 30+ ‘ >0 ‘ / ‘ >0 ‘ ‘ & ‘
‘ 30+12 ‘ 250 ‘ 50/60 ‘ 50 ‘ 1.4 ‘ 85 ‘
6+4 450 50/60 50 354 75
‘ 30+15 ‘ 250 ‘ 50/60 ‘ 50 ‘ 414 ‘ 85 ‘
‘ 7435 ‘ 450 ‘ 50/60 ‘ 50 ‘ 354 ‘ 75 ‘
‘ 30+16 ‘ 250 ‘ 50/60 ‘ 50 ‘ 1.4 ‘ 85 ‘
7+4 450 50/60 50 373 65
‘ 34+14 ‘ 250 ‘ 50/60 ‘ 50 ‘ 445 ‘ 85 ‘
T o [ = | wm | w | wm | s |
‘ 35+14 ‘ 250 ‘ 50/60 ‘ 50 ‘ 445 ‘ 85 ‘
9+4 450 50/60 50 373 65
T omw | om | swm | w | w | w® |
o | o= ] wwm | w | = | s ] ‘
40+14 ‘ 250 ‘ 50/60 ‘ 50 ‘ 445 ‘ 85 ‘
9+5 450 50/60 50 373 65
‘ 40+15 ‘ 250 ‘ 50/60 ‘ 50 ‘ 245 ‘ 85 ‘
‘ 10+4 ‘ 450 ‘ e ‘ 0 ‘ 373 ‘ 65 ‘ ‘ 38418 ‘ 250 ‘ 50/60 ‘ 50 ‘ 445 ‘ 85 ‘
11+4 450 50/60 50 373 65 ‘ 39+16 ‘ 250 ‘ 50/60 ‘ - ‘ G ‘ - ‘
‘ e ‘ i ‘ S ‘ = ‘ i ‘ e ‘ ‘ 42+15 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
1145 450 50/60 50 373 65 ‘ 444165 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
12+4 450 50/60 50 354 75 ‘ 48+165 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
‘ 1245 ‘ 450 ‘ 50/60 ‘ 50 ‘ 354 ‘ 75 ‘ ‘ 48+18 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
1246 450 50/60 50 354 75 ‘ 52+17 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
‘ I ‘ /o ‘ 50/60 ‘ - ‘ - ‘ 7 ‘ ‘ 52+26 ‘ 250 ‘ 50/60 ‘ 50 ‘ 45 ‘ 100 ‘
13+6 450 50/60 50 354 75 FHMBAE RIESIHARNTREFATREE,
‘ 1347 ‘ 450 ‘ 50/60 ‘ 50 ‘ 354 ‘ 75 ‘
1348 450 50/60 50 354 75
Al
14+4 450 50/60 50 354 75
14+5 450 50/60 50 354 75 St t I
14+6 450 50/60 50 39.2 85 . H Z
Diagram g ol oA
T T LL‘[_] T !‘HJ‘ N 705
1545 450 50/60 50 392 85 2
= g/ | { \
L ERR J |\
15+6 450 50/60 50 39.2 85 2 = I
T DY)
I
1547 450 50/60 50 392 85 =1 s
¢
o
A HMBAE RIKSIEARNTEEFEREE, = =




e s w1 sem

Produci i Th i
e ernesse 43144

PRODUCT
INTRODUCTION Em i$i Se environmen ?: ﬁll\\ eatures

SRR SOl Sl o SMPRE. RYNG, BERRE, REHE, FEES;
R <2000m MEBEIRERE, R, WERETHE:

CBB60 EERFRE 110%Un BN, SEESRNEEBETOLMEER, FRRLTE;
SEaUFER: 130%In EERITIRE. B

HB2RFRME: =3000s (20°C, 100V, 1min) EREHK, TRERER BEERSIMEMNL;
ERARAGEIIRZFBININBERR
(2B3/ERiFxARNFE)

Metallized Polypropylene Film AC Motor Capacitors

(Fully Automatic/Mini Washing Machine Series)
EARSE Technical parameter

= iR TR GB/T3667.1-2016 / IEC 60252-1:2013
Product Description
BB 250VAC. 300VAC. 370VAC. 400VAC. 450VAC. 500VAC
ARATNEALREB LERAEEEENR. 8% I iZ BT EANERER J950HZ/60HZ A8 X 7R EB BN ANEEE: 1uF~100uF
MESEESEESENBR, TREWRIT, Bz . e
%E_;E?I*E, (REE 7B A TTHABHI T S RS BEaE. 5% ~ +5%

RFEAIEIE: Tand<0.0020 (100Hz 25°C)
RIEImIER E: T-T:=22Un/2S

FEMIFRE: T-C:=22000V.AC/2s

= SN & ZeER:. So
QQHW%}ALE =TE%:. B: 10000H C: 3000H ) 4
Safety And Environmental @IINIE:: CQC/CB/CE/VDE/UL

Protection Certification IMRXIRL:: ROHS REACH ZeWE  TIAE  REIMR




DAZ’,AO AEH Producing capacitors The artisan 4 5 / 4 6
HNREFRERNTE
=] =]
B Product Parameter B Product Parameter
"/, "/,
i R e SHERY (mm) TSk ErE e SHERY (mm)
(uF) V) () D1£0.1 ‘ D2+0.2 ‘ H1 (uF) V) ((k2) D120.1 ‘ H1
‘ 8 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ 8 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 85 ‘ 450 ‘ 50/60 ‘ 2 ‘ 332 ‘ 85 ‘ ‘ 5 ‘ /e ‘ 50/60 ‘ - ‘ - ‘
‘ 9 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ e ‘ /5 ‘ 50/60 ‘ - ‘ o ‘
T - B B B B T S B B ey
‘ 1 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ ‘
12 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 12 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
‘ 13 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 13 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
‘ 14 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 14 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
‘ 15 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 15 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
e w | ww e om s oo | e [ se s | . |
‘ 17 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ 17 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 18 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ 18 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 19 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘ 19 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 20 ‘ 450 ‘ 50/60 ‘ ) ‘ 332 ‘ 85 ‘ ‘ - ‘ /i ‘ 50/60 ‘ - ‘ - ‘
 a e e | e | owm | s S B NS S B
T T B R T R B T 2 | e | s | = | s |
‘ 23 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘ ‘
25 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 24 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
‘ 30 ‘ 450 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 25 ‘ 450 ‘ 50/60 ‘ 42 ‘ 332 ‘ 85 ‘
‘ 33 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
A HMBFE RIRSIEARTREFEREE, ‘
35 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
| ‘ 40 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
‘ 42 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
i i = ‘ 44 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
69 o D -
Stru ctu re 525 Dt | N | ‘ 46 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
| 1 T S
Di agram = ° B ‘ 48 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
7.25
- JH = e m | sw | ow s
- = It ©| ~| T T T
< ~
‘ 55 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
w0
)
O ‘ 60 ‘ 250 ‘ 50/60 ‘ 38 ‘ 85 ‘
D D2
A HMBE RIRSIEAXTREFEREE,




DAZRINO KER

Produci itors The arti
T onsrennie 47/48

EFE i*fﬁ‘:. Use Environment Fiﬂﬁuﬁ“ Features

SRR CUTUES AUEEZ] o SNPEE. RNG, ERRE, TEAE, FEES;

. BRSE: <2000m o BEBERERE, KA, PIBETHE;
ﬁ%“h%ﬁﬁﬁ%ﬂ; EERAVFEE 110%Un o BRMME, HEEMERNERDESALNEEE, FRRSTE;
P - oo — p SEAVET: 130%In o EERFEEN.

32 i BFE BREN (9 (&) -
>N "'EEE}]HLEBQEE (in’""%;yj) g L - Yot ERTE: >3000s (20°C, 100V, 1min) o EEEGK, PDANREE, BEREIMN

Metallized polypropylene film AC motor e L
capacitors (aluminum shell series)

TR GB/T3667.1-2016/IEC 60252-1:2013
F= IR Product Description HEEE: 250VAC. 300VAC. 370VAC. 400VAC. 450VAC. 500VAC
_— . \ . \ R Technical -
ERMER T RRAEEEENR. DENEESEERNA FEERATZEERSRREBIEE. P t HBESEE: 1+0uF ~80+15uF. 1uF~80uF
iR, FREWS, SEES, S2RENRIIRE; SEITRAER, EREHE. arameter
BERE: -5% ~ +5%
R0 T BB AT RO T SRR HAS A BEASH TR
IRFERAIEDNE: Tand<0.0020 (100Hz 25°C)
RIBfIERE: T-T:=2Un/2S
RS E: T-C:=2000V.AC/2S

;::: ﬂ%gi Product Parameter

D1
- — B SMER (mm)
(17 (V) (Hz) D1:0.1 ‘ D202 ‘ Hx1 3~
21,65
PRODUCT [ » [ o [ wo [ = | ® [ = [ » | ]
[ I . |
INTRODUCTION R T T I RO B B R m.
‘ 18 ‘ 450 ‘ 50/60 ‘ s2 ‘ 45 ‘ 332 ‘ 75 ‘
‘ 25 ‘ 450 ‘ 50/60 ‘ s2 ‘ 45 ‘ 332 ‘ 90 ‘
CBB65 % | e | sw | = | s | om | = | N
T
‘ 40 ‘ 450 ‘ 50/60 ‘ s2 ‘ 50 ‘ 332 ‘ 100 ‘ T
‘ 60 ‘ 450 ‘ 50/60 ‘ s2 ‘ 55 ‘ 332 ‘ 130 ‘
‘ 11445 ‘ 450 ‘ 50/60 ‘ s2 ‘ 40 ‘ 332 ‘ 85 ‘
g,_'z éf‘: 1%.; AiIE ‘ 13+45 ‘ 450 ‘ 50/60 ‘ s2 ‘ 40 ‘ 332 ‘ 85 ‘ &
‘ 15455 ‘ 450 ‘ 50/60 ‘ s2 ‘ 40 ‘ 332 ‘ 85 ‘
s
ZeER:. 2 ‘
- . 55 ‘ 250 ‘ 50/60 ‘ s2 ‘ 40 ‘ 332 ‘ 85 ‘
=217%4%%:. B: 10000H C: 3000H | D2

1BIEIAE:
PRRRATR : «

CQC/CB/CE/VDE/UL
ROHS REACH

A EMTE RIRILARTEEFBEREE,




